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Create a sorted Link containing all the elements of both sorted Links s & t.

1 3 4

1 -3 4 1 4 -3

1 4 3
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Is a linked list s ordered from least to greatest by absolute value (or a key function)?

Create a sorted Link containing all the elements of both sorted Links s & t.

1 3 4

1 -3 4 1 4 -3

1 5 1 4

1 4 3
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Is a linked list s ordered from least to greatest by absolute value (or a key function)?

Create a sorted Link containing all the elements of both sorted Links s & t.

1 3 4

1 -3 4 1 4 -3

1 5 1 4 1 4 51
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Is a linked list s ordered from least to greatest by absolute value (or a key function)?

Create a sorted Link containing all the elements of both sorted Links s & t.

Do the same thing, but never call Link.

1 3 4

1 -3 4 1 4 -3

1 5 1 4 1 4 51

1 4 3
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Is a linked list s ordered from least to greatest by absolute value (or a key function)?

Create a sorted Link containing all the elements of both sorted Links s & t.

Do the same thing, but never call Link.

1 3 4

1 -3 4 1 4 -3

1 5 1 4 1 4 51
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Is a linked list s ordered from least to greatest by absolute value (or a key function)?

Create a sorted Link containing all the elements of both sorted Links s & t.

Do the same thing, but never call Link.

1 3 4

1 -3 4 1 4 -3

1 5 1 4 1 4 51

1 5 1 4x

1 4 3
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Is a linked list s ordered from least to greatest by absolute value (or a key function)?

Create a sorted Link containing all the elements of both sorted Links s & t.

Do the same thing, but never call Link.

1 3 4

1 -3 4 1 4 -3

1 5 1 4 1 4 51

1 5 1 4x x

1 4 3


